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o (it ENE | BXE | BAE | BAR | DARMESH | KA~ R
1 [ BETELE 0. 0.06 0.06 0.05 0.06 [FARAIA (BIEHE) 5
2 |[RRFHILS 0. 0.05 0.06 0.05 0.06 [JL=fIA 5
3 [=BMFHES 0. 0.06 0.07 0.06 0.07 [F=AA 5
4 |E_BTE—FHILS 0. 0.05 0.07 0.05 0.07 [FREBHR 5
b |RETFELE 0. 0.06 0.07 0.06 0.06 |FEFafAlf 5
6 AR FHIES 0. 0.04 0.06 0.05 0.06 [ flf 5
1 | EFHKE 0. 0.07 0.08 0.07 0.08 [FaFafIfA (AIEL) 5
8 |EF#HETHLE 0. 0.05 0.07 0.05 0.07 [HLE=AIA 5
9 [ZHEE-FHES 0. 0.05 0.06 0.05 0.06 |FFafElA 5
P BT F L1 0. 0.04 0.05 0.04 0.06 [Jt=AIA 5
o B i (X [ 35 0. 0.04 0.06 0.04 0.06 [BfAtE 5
EHOS1-—T 1L 0. 0.04 0.05 0.04 0.05 [HLEAIA b
BEIS1—7 «JLhs 0. 0.04 0.05 0.04 0.05 [FA L& 5
L PN 0. 0.04 0.05 0.04 0.05 [FREBHR 5
MNRFHRIES 0. 0.056] 005[ 0.05] 0.05 [FArafilf 0
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